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              Sample Paper-3 

        2009 
xÉÇxM×üiÉqÉç xÉÇxM×üiÉqÉç xÉÇxM×üiÉqÉç xÉÇxM×üiÉqÉç {xÉqmÉëåwÉhÉÉkÉÉËUiÉqÉç}{xÉqmÉëåwÉhÉÉkÉÉËUiÉqÉç}{xÉqmÉëåwÉhÉÉkÉÉËUiÉqÉç}{xÉqmÉëåwÉhÉÉkÉÉËUiÉqÉç}    

COMMUNICATIVE SANSKRIT 
    AuÉÍkÉÈ : WûÉåUÉ§ÉrÉqÉçAuÉÍkÉÈ : WûÉåUÉ§ÉrÉqÉçAuÉÍkÉÈ : WûÉåUÉ§ÉrÉqÉçAuÉÍkÉÈ : WûÉåUÉ§ÉrÉqÉç                 CLASS- X                                                                mÉÔhÉÉïƒ¡ûÈ : mÉÔhÉÉïƒ¡ûÈ : mÉÔhÉÉïƒ¡ûÈ : mÉÔhÉÉïƒ¡ûÈ : 100100100100    
 Time allowed: 3 hours                   Maximum Marks: 100 

ZÉhQûÈ Mü : AmÉÌPûiÉÉÇzÉZÉhQûÈ Mü : AmÉÌPûiÉÉÇzÉZÉhQûÈ Mü : AmÉÌPûiÉÉÇzÉZÉhQûÈ Mü : AmÉÌPûiÉÉÇzÉ----AuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉç                    15 Marks 

Section A: Unseen Reading Comprehension      

ZÉhQûÈ ZÉ : UcÉlÉÉiqÉMüZÉhQûÈ ZÉ : UcÉlÉÉiqÉMüZÉhQûÈ ZÉ : UcÉlÉÉiqÉMüZÉhQûÈ ZÉ : UcÉlÉÉiqÉMü----MüÉrÉïqÉçMüÉrÉïqÉçMüÉrÉïqÉçMüÉrÉïqÉç                        20 Marks 

Section B: Writing Skills  

ZÉhQûÈ aÉ : AlÉÑmÉërÉÑ£üZÉhQûÈ aÉ : AlÉÑmÉërÉÑ£üZÉhQûÈ aÉ : AlÉÑmÉërÉÑ£üZÉhQûÈ aÉ : AlÉÑmÉërÉÑ£ü----urÉÉMüUhÉqÉçurÉÉMüUhÉqÉçurÉÉMüUhÉqÉçurÉÉMüUhÉqÉç           30 Marks 

Section C: Applied Grammar 

ZÉhQûÈ bÉ : mÉÌPûiÉZÉhQûÈ bÉ : mÉÌPûiÉZÉhQûÈ bÉ : mÉÌPûiÉZÉhQûÈ bÉ : mÉÌPûiÉ----AuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉç                  35 Marks 

Section D: Reading Comprehension  
Instructions:   

ÌlÉSåïzÉÉÈÌlÉSåïzÉÉÈÌlÉSåïzÉÉÈÌlÉSåïzÉÉÈ----        
i. AÎxqÉlÉç mÉëzlÉmÉ§Éå cÉiuÉÉUÈ ZÉhQûÉÈ xÉÎliÉ |AÎxqÉlÉç mÉëzlÉmÉ§Éå cÉiuÉÉUÈ ZÉhQûÉÈ xÉÎliÉ |AÎxqÉlÉç mÉëzlÉmÉ§Éå cÉiuÉÉUÈ ZÉhQûÉÈ xÉÎliÉ |AÎxqÉlÉç mÉëzlÉmÉ§Éå cÉiuÉÉUÈ ZÉhQûÉÈ xÉÎliÉ |    

The question paper has four sections. 

ii. mÉëÌimÉëÌimÉëÌimÉëÌiÉZÉhQûqÉç E¨ÉUÉÍhÉ mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ sÉåZÉlÉÏrÉÉÌlÉ |ÉZÉhQûqÉç E¨ÉUÉÍhÉ mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ sÉåZÉlÉÏrÉÉÌlÉ |ÉZÉhQûqÉç E¨ÉUÉÍhÉ mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ sÉåZÉlÉÏrÉÉÌlÉ |ÉZÉhQûqÉç E¨ÉUÉÍhÉ mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ sÉåZÉlÉÏrÉÉÌlÉ |    
The answers have to be written in a separate answer-sheet. 

iii. mÉëirÉåMÇü ZÉhQûqÉç AÍkÉM×üirÉ E¨ÉUÉÍhÉ LMüÎxqÉlÉç xjÉÉlÉå ¢üqÉåhÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëirÉåMÇü ZÉhQûqÉç AÍkÉM×üirÉ E¨ÉUÉÍhÉ LMüÎxqÉlÉç xjÉÉlÉå ¢üqÉåhÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëirÉåMÇü ZÉhQûqÉç AÍkÉM×üirÉ E¨ÉUÉÍhÉ LMüÎxqÉlÉç xjÉÉlÉå ¢üqÉåhÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëirÉåMÇü ZÉhQûqÉç AÍkÉM×üirÉ E¨ÉUÉÍhÉ LMüÎxqÉlÉç xjÉÉlÉå ¢üqÉåhÉ sÉåZÉlÉÏrÉÉÌlÉ |    
The answers to each section must be written at one place. 

iv. mÉëzlÉmÉ§Éå E¨ÉUÉÍhÉ lÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëzlÉmÉ§Éå E¨ÉUÉÍhÉ lÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëzlÉmÉ§Éå E¨ÉUÉÍhÉ lÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëzlÉmÉ§Éå E¨ÉUÉÍhÉ lÉ sÉåZÉlÉÏrÉÉÌlÉ |    
Don’t answer in the question paper. 

v. mÉëzlÉxÉXçZrÉÉ mÉëzlÉmÉ§ÉÉlÉÑxÉÉUqÉç AuÉzrÉÇ sÉåZÉlÉÏrÉÉ |mÉëzlÉxÉXçZrÉÉ mÉëzlÉmÉ§ÉÉlÉÑxÉÉUqÉç AuÉzrÉÇ sÉåZÉlÉÏrÉÉ |mÉëzlÉxÉXçZrÉÉ mÉëzlÉmÉ§ÉÉlÉÑxÉÉUqÉç AuÉzrÉÇ sÉåZÉlÉÏrÉÉ |mÉëzlÉxÉXçZrÉÉ mÉëzlÉmÉ§ÉÉlÉÑxÉÉUqÉç AuÉzrÉÇ sÉåZÉlÉÏrÉÉ |    
Write the question number according to the question paper. 

vi. xÉuÉåïwÉÉÇ mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ xÉÇxM×üiÉålÉ xÉuÉåïwÉÉÇ mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ xÉÇxM×üiÉålÉ xÉuÉåïwÉÉÇ mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ xÉÇxM×üiÉålÉ xÉuÉåïwÉÉÇ mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ xÉÇxM×üiÉålÉ sÉåZÉlÉÏrÉÉÌlÉ |sÉåZÉlÉÏrÉÉÌlÉ |sÉåZÉlÉÏrÉÉÌlÉ |sÉåZÉlÉÏrÉÉÌlÉ |    
Answer all the questions in “SANSKRIT”. 

              

                        ZÉhQûÈ MüZÉhQûÈ MüZÉhQûÈ MüZÉhQûÈ Mü    (Section A) 
                                                AmÉÌPûiÉÉÇzÉAmÉÌPûiÉÉÇzÉAmÉÌPûiÉÉÇzÉAmÉÌPûiÉÉÇzÉ----AuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉç    

                                         Unseen Reading Comprehension          15 Marks 

1. AkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉ----AlÉÑcNåûS²rÉAlÉÑcNåûS²rÉAlÉÑcNåûS²rÉAlÉÑcNåûS²rÉÇ mÉÌPûiuÉÉ mÉëS¨ÉmÉëzlÉÉlÉç mÉ×jÉMçü mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉqÉç E¨ÉUiÉ :Ç mÉÌPûiuÉÉ mÉëS¨ÉmÉëzlÉÉlÉç mÉ×jÉMçü mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉqÉç E¨ÉUiÉ :Ç mÉÌPûiuÉÉ mÉëS¨ÉmÉëzlÉÉlÉç mÉ×jÉMçü mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉqÉç E¨ÉUiÉ :Ç mÉÌPûiuÉÉ mÉëS¨ÉmÉëzlÉÉlÉç mÉ×jÉMçü mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉqÉç E¨ÉUiÉ :    
    Read the following two passages and answer the questions in the given answer-sheet: 

    
(Mü)  (Mü)  (Mü)  (Mü)  mÉëjÉqÉÈ AlÉÑcNåûSÈmÉëjÉqÉÈ AlÉÑcNåûSÈmÉëjÉqÉÈ AlÉÑcNåûSÈmÉëjÉqÉÈ AlÉÑcNåûSÈ    

MüÍ¶ÉiÉç mÉÑÂwÉÈ oÉWÒûMüÉsÉÉiÉç xÉÑuÉhÉïmÉÔËUiÉÇ bÉOûqÉåMÇü xuÉxÉqÉÏmÉå mÉËUU¤ÉlÉç AÉxÉÏiÉç | xÉuÉïSÉ xÉÈ 
iÉÇ bÉOÇû xÉqÉÏmÉå LuÉ xjÉÉmÉrÉÌiÉ xqÉ | MüSÉÍcÉiÉç xÉÈ xlÉÉlÉÉjÉïÇ lÉSÏqÉç AaÉcNûiÉç | xlÉÉlÉÉuÉxÉUå bÉOÇû xÉqÉÏmÉå 
xjÉÉmÉÌrÉiÉÑqÉç AxÉqÉjÉïÈ xÉÈ MüÉåÅÌmÉ iÉqÉç AÉWûUåiÉç CÌiÉ pÉrÉålÉ iÉÏUå LMÇü aÉiÉïÇ mÉëMüsmrÉ iÉxrÉÉliÉÈ bÉOÇû ÌlÉÍ¤ÉmrÉ 
iÉSÒmÉËU uÉÉsÉÑMüÉÍpÉÈ ÍsÉ…¡ûqÉåMÇü ÌlÉÍqÉïiÉuÉÉlÉç | iÉjÉÉM×üiuÉÉ rÉSÉ xÉÈ lÉSÏqÉç AuÉÉiÉUiÉç iÉSÉ iÉ§É xlÉÉlÉÉjÉïqÉç 
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AÉaÉiÉÉÈ AlrÉåÅÌmÉ eÉlÉÉÈ ÍsÉ…¡ûÌlÉqÉÉïhÉÇ iÉ§ÉirÉÉÇ mÉ®ÌiÉÇ qÉiuÉÉ LMæüMÇü ÍsÉ…¡Çû ÌlÉqÉÉïrÉ lÉSÏqÉç AuÉÉiÉUlÉç | xlÉÉlÉÇ 
xÉqÉÉmrÉ AÉaÉiÉÈ xÉÈ mÉÑÂwÉÈ AlÉåMåüwÉÑ ÍsÉ…¡åûwÉÑ xuÉÌlÉÍqÉïiÉÇ ÍsÉ…¡ûûqÉç AÍpÉ¥ÉÉiÉÑqÉxÉqÉjÉïÈ pÉÔiuÉÉ AÍkÉMÇü urÉsÉmÉiÉç |        

mÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈ----        

I. LMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉ    :  

Answer in one word:         1 x 2 = 2 

i. mÉÑÂwÉÈ ÌMÇümÉÔËUiÉÇ bÉOÇû mÉËUU¤ÉÌiÉ ?   

ii. eÉlÉÉÈ MüÉÇ iÉ§ÉirÉÉÇ mÉ®ÌiÉqÉç AqÉlrÉliÉ? 

II.    mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :    
Answer in complete sentence:        2 x 1 = 2 

i. xlÉÉlÉÉjÉïÇ AÉaÉiÉÉÈ AlrÉå eÉlÉÉÈ ÌMüqÉç AMÑüuÉïlÉç ?   

III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :    
  Do as directed:                       ½ x 2 = 1 

i. AlÉÑcNåûSÉiÉç zÉ§ÉliÉÇ mÉSqÉåMÇü ÍcÉiuÉÉ ÍsÉZÉiÉ |   

ii. ‘ÍxÉMüiÉÉÍpÉÈ’ CirÉjÉåï ÌMÇü mÉSÇ mÉërÉÑ£üqÉç ?        

    

(ZÉ)  (ZÉ)  (ZÉ)  (ZÉ)  Ì²iÉÏrÉÈ AlÉÑcNåûSÈ Ì²iÉÏrÉÈ AlÉÑcNåûSÈ Ì²iÉÏrÉÈ AlÉÑcNåûSÈ Ì²iÉÏrÉÈ AlÉÑcNåûSÈ     
rÉSÉ qÉÉlÉuÉålÉ ‘xÉqÉÉeÉÈ’ CÌiÉ MüÉÍcÉiÉç mÉËUMüsmÉlÉÉ M×üiÉÉ AjÉuÉÉ MüÉÍcÉiÉç urÉuÉxjÉÉ AÉUokÉÉ iÉiÉÈ xÉÈ 

qÉÔsÉpÉÔiÉ¥ÉÉlÉÉSè AÍkÉMÇü ÌuÉÍzÉ¹Ç ÌMüqÉÌmÉ AkrÉåiÉÑqÉç AÉUpÉiÉ | iÉxrÉ AkrÉrÉlÉqÉç AlÉÑpÉÌuÉlÉÉÇ qÉÉaÉïSzÉïlÉålÉ 
xÉÑxÉÉkrÉÇ xÉgeÉÉiÉqÉç | LuÉÇ aÉÑÂ-ÍzÉwrÉ-mÉËUMüsmÉlÉÉ AÉUokÉÉ xrÉÉiÉç | mÉUqÉç AlÉliÉUMüÉsÉå LwÉÈ MåüuÉsÉqÉç 
AkrÉÉmÉÌrÉiÉÉ-AkrÉåiÉÉ-xÉqoÉlkÉÈ lÉ pÉÔiuÉÉ AÉSU-uÉÉixÉsrÉ-mÉëåqÉÉÌSpÉÉuÉrÉÑ£üÈ Mü¶ÉlÉ ÌuÉÍzÉ¹È LuÉ  
xÉgeÉÉiÉÈ | aÉÑÂÈ ÍzÉwrÉÇ mÉÑ§É CuÉ pÉÉuÉrÉÌiÉ xqÉ, ÍzÉwrÉ¶É aÉÑÂÇ ÌmÉiÉ×xÉqÉÉlÉÇ qÉiuÉÉ AÉSUÇ MüUÉåÌiÉ xqÉ | ÌMüliÉÑ 
mÉËUuÉiÉïlÉzÉÏsÉåÅÎxqÉlÉç eÉaÉÌiÉ LwÉÈ aÉÑÂÍzÉwrÉxÉqoÉlkÉÉåÅÌmÉ AkÉÑlÉÉ mÉÔuÉïxqÉÉiÉç ÌuÉÍpÉ³ÉÃmÉå SØzrÉiÉå | A± aÉÑÂÈ 
MåüuÉsÉqÉç AkrÉÉmÉlÉå xuÉSÉÌrÉiuÉÇ xjÉÉmÉrÉlÉç, MüSÉÍcÉiÉç ÍqÉ§ÉÍqÉuÉÉÌmÉ urÉuÉWûUÌiÉ | ÍzÉwrÉxrÉÉÌmÉ AÉ¥ÉÉMüÉËUiuÉqÉç 
AlÉÑzÉÉÍxÉiÉiuÉqÉç CirÉÉSrÉÈ aÉÑhÉÉÈ lÉ SØzrÉliÉå | AkÉÑlÉÉ aÉÑÂÍzÉwrÉrÉÉåxxÉqoÉlkÉÈ iÉiuÉÌlÉ¸È, M×üiÉ¥ÉiÉÉWûÏlÉÈ 
pÉÉuÉzÉÔlrÉÈ cÉ uÉiÉïiÉå | AiÉÈ CSÉlÉÏliÉlÉMüÉsÉå mÉëÉcÉÏlÉMüÉsÉå CuÉ AkrÉrÉlÉÉkrÉÉmÉlÉrÉÉåÈ E¨ÉqÉÉ mÉëaÉÌiÉÈ lÉ  
SØzrÉiÉå |    
mÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈ----        
I. LMümÉSålÉ E¨ÉUiÉ  LMümÉSålÉ E¨ÉUiÉ  LMümÉSålÉ E¨ÉUiÉ  LMümÉSålÉ E¨ÉUiÉ  ::::        
Answer in one word:                    ½ x 4 = 2    

i. qÉÉlÉuÉålÉ M×üiÉÉ mÉËUMüsmÉlÉÉ MüÉ ?      

ii. CSÉlÉÏliÉlÉMüÉsÉå MÑü§É E¨ÉqÉÉ mÉëaÉÌiÉÈ lÉ SØzrÉiÉå? 

iii. ÍzÉwrÉÈ aÉÑÂÇ MÇü qÉiuÉÉ AÉSUÇ MüUÉåÌiÉ xqÉ ?   

iv. CSÇ eÉaÉiÉç MüÐSØzÉqÉç AÎxiÉ? 
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 II.    mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :    
Answer in complete sentence:        2 x 2 = 4    

i. AlÉliÉUMüÉsÉå aÉÑÂÍzÉwrÉxÉqoÉlkÉÈ MüjÉÇ ÌuÉÍzÉ¹È xÉgeÉÉiÉÈ? 

ii. A± ÍzÉwrÉxrÉ Måü aÉÑhÉÉÈ lÉ SØzrÉliÉå? 
 III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :        

Do as directed:                       ½ x 4 = 2 

i. ‘SÒÈxÉÉkrÉqÉç’ CÌiÉ mÉSxrÉ ÌuÉsÉÉåqÉmÉSÇ ÍsÉZÉiÉ ?  

ii. ‘mÉëaÉÌiÉÈ’ CÌiÉ mÉSxrÉ ÌuÉzÉåwÉhÉÇ ÌMüqÉç? 

iii. ‘pÉÉuÉrÉÌiÉ’ CÌiÉ Ì¢ürÉÉmÉSxrÉ MüiÉ×ïmÉSÇ ÌMüqÉç?   

iv. ‘xÉÈ qÉÔsÉpÉÔiÉ¥ÉÉlÉÉiÉç..............’ CirÉÉÌSuÉÉYrÉå ‘xÉÈ’ CÌiÉ mÉSÇ MüxqÉæ mÉërÉÑ£üqÉç?    
IV. AxrÉ AlÉÑcNåûSxrÉ xÉqÉÑÍcÉiÉÇ ÍzÉwÉïMÇü ÍsÉZÉiÉ |AxrÉ AlÉÑcNåûSxrÉ xÉqÉÑÍcÉiÉÇ ÍzÉwÉïMÇü ÍsÉZÉiÉ |AxrÉ AlÉÑcNåûSxrÉ xÉqÉÑÍcÉiÉÇ ÍzÉwÉïMÇü ÍsÉZÉiÉ |AxrÉ AlÉÑcNåûSxrÉ xÉqÉÑÍcÉiÉÇ ÍzÉwÉïMÇü ÍsÉZÉiÉ |                     

       Write a suitable title for the above paragraph.      1 x 2 = 2    
ZÉhQûÈ ZÉhQûÈ ZÉhQûÈ ZÉhQûÈ –    ZÉZÉZÉZÉ    

(UcÉlÉÉiqÉMüsÉåZÉlÉqÉç )(UcÉlÉÉiqÉMüsÉåZÉlÉqÉç )(UcÉlÉÉiqÉMüsÉåZÉlÉqÉç )(UcÉlÉÉiqÉMüsÉåZÉlÉqÉç )    
    Section B: Writing Skills     

2. 2. 2. 2. UÉuÉhÉålÉ xuÉÍqÉ§ÉÇ UÉqÉÇ UÉuÉhÉålÉ xuÉÍqÉ§ÉÇ UÉqÉÇ UÉuÉhÉålÉ xuÉÍqÉ§ÉÇ UÉqÉÇ UÉuÉhÉålÉ xuÉÍqÉ§ÉÇ UÉqÉÇ mÉëÌiÉ ÍsÉÎZÉiÉqÉç AkÉÈ S¨ÉÇ mÉ§ÉÇ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉëÌiÉ ÍsÉÎZÉiÉqÉç AkÉÈ S¨ÉÇ mÉ§ÉÇ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉëÌiÉ ÍsÉÎZÉiÉqÉç AkÉÈ S¨ÉÇ mÉ§ÉÇ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉëÌiÉ ÍsÉÎZÉiÉqÉç AkÉÈ S¨ÉÇ mÉ§ÉÇ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |    
      Complete and rewrite the letter with the help of the words given in the box.                     ½ x 10 = 5  

           
  AzÉÉåMüuÉlÉqÉç 

                  xuÉhÉïsÉƒ¡ûÉ  
             ÌSlÉÉƒ¡ûÈ- 11-09-2008 
ÌmÉërÉÍqÉ§É! UÉqÉ! 

  1.   , 
   qÉªiÉÇ xÉuÉïÇ MÑüzÉsÉqÉç AÎxiÉ | pÉÉuÉrÉÉÍqÉ iuÉqÉÌmÉ 2.    |  
 aÉiÉxÉmiÉÉWåû AWÇû lÉaÉUå LMÇü 3.    AaÉcNûqÉç | iÉ§É AWqÉç LMÇü ÌuÉÍzÉ¹Ç mÉÑxiÉMüqÉç 4.       | 
iÉxrÉ zÉÏÌwÉïMürÉÉ LuÉ AWqÉç AÉMüÌwÉïiÉÈ pÉÔiuÉÉ iÉiÉç 5.     | AÉXçasÉpÉÉwÉÉrÉÉÈ iÉxrÉ lÉÉqÉ ‘mÉÉÍhÉÌlÉiÉÈ 
mÉiÉgeÉÍsÉmÉrÉïliÉqÉç’ ( Panini To Patanjali  ) | iÉÎxqÉlÉç 6.   xÉqoÉ®ÉÈ AlÉåMåü ÌuÉwÉrÉÉÈ 7.    
xÉÎliÉ | AWÇû mÉÌPûiuÉÉ iÉÑprÉÇ SÉxrÉÉÍqÉ, iuÉqÉÌmÉ iÉSè 8.     CÌiÉ qÉlrÉå |  
 
  mÉÑlÉÍqÉïsÉÉuÉÈ 9.    | 

    
    
  iÉuÉ ÍqÉ§ÉqÉç 
     
    
 10.     

    

xÉÇxM×üiÉpÉÉwÉÉrÉÉÈ,   zÉÑpÉqÉxiÉÑ,   xÉxlÉåWÇû lÉqÉÈ,   
mÉÑxiÉMüÉsÉrÉqÉç,   ¢üÏiÉuÉÉlÉç,   ÌlÉÃÌmÉiÉÉÈ, MÑüzÉsÉÏÌiÉ,   
CcNûÍxÉ,   AmÉzrÉqÉç,   UÉuÉhÉÈ,  
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3. 3. 3. 3. ²rÉÉåÈ qÉÌWûsÉrÉÉå²rÉÉåÈ qÉÌWûsÉrÉÉå²rÉÉåÈ qÉÌWûsÉrÉÉå²rÉÉåÈ qÉÌWûsÉrÉÉåÈÈÈÈ    xÉqpÉÉwÉhÉqÉç EÍcÉiÉmÉSæÈ mÉÔUÌrÉiuÉÉ ÍsÉZÉiÉ |xÉqpÉÉwÉhÉqÉç EÍcÉiÉmÉSæÈ mÉÔUÌrÉiuÉÉ ÍsÉZÉiÉ |xÉqpÉÉwÉhÉqÉç EÍcÉiÉmÉSæÈ mÉÔUÌrÉiuÉÉ ÍsÉZÉiÉ |xÉqpÉÉwÉhÉqÉç EÍcÉiÉmÉSæÈ mÉÔUÌrÉiuÉÉ ÍsÉZÉiÉ |    
       Complete the following dialogue with the help of the statements given in the box and      

      rewrite in   your answer-sheet:                  1  x 5 = 5 
   
  [ ÌuÉmÉhÉÉæ ²rÉÉåÈ qÉÌWûsÉrÉÉåÈ uÉÉiÉÉïsÉÉmÉÈ] 
mÉëjÉqÉÉ - xÉÎZÉ! MüjÉqÉÍxÉ? 1.         | 
Ì²iÉÏrÉÉ - xÉqrÉaÉÎxqÉ | iÉuÉ eÉÏuÉlÉÇ MüjÉqÉÎxiÉ ? 2.       | 
mÉëjÉqÉÉ – AÉqÉç | lÉÔiÉlÉÉ LuÉ | ½È ¢üÏiÉÉ qÉrÉÉ, MüjÉqÉÎxiÉ ? 
Ì²iÉÏrÉÉ – 3.       | 
mÉëjÉqÉÉ – mÉgcÉxÉWûxÉëÃmrÉMüÉÍhÉ | 
Ì²iÉÏrÉÉ- iÉÉuÉlirÉåuÉ ? qÉrÉÉ AÌmÉ  ¢åüiÉurÉÉ | 4.        | 
mÉëjÉqÉÉ – AÉmÉhÉqÉç A§É xÉqÉÏmÉå LuÉ ÌuÉ±iÉå | 5.        |      
 
 [ CÌiÉ EpÉå ÌuÉmÉhÉÉæ ¢ürÉhÉÇ ÌuÉxÉ×erÉ zÉÉÌOûMüÉmÉhÉÇ mÉëÌiÉ aÉcNûiÉÈ ] 
 

 

 

 

 

 

 

 

 

 

4. mÉgcÉxÉÑ xÉÇxM×üiÉuÉÉYrÉåwÉÑ qÉgeÉÔwÉÉmÉgcÉxÉÑ xÉÇxM×üiÉuÉÉYrÉåwÉÑ qÉgeÉÔwÉÉmÉgcÉxÉÑ xÉÇxM×üiÉuÉÉYrÉåwÉÑ qÉgeÉÔwÉÉmÉgcÉxÉÑ xÉÇxM×üiÉuÉÉYrÉåwÉÑ qÉgeÉÔwÉÉ----mÉSmÉSmÉSmÉS----xÉWûÉrÉiÉrÉÉ AkÉÉåÍsÉÎxÉWûÉrÉiÉrÉÉ AkÉÉåÍsÉÎxÉWûÉrÉiÉrÉÉ AkÉÉåÍsÉÎxÉWûÉrÉiÉrÉÉ AkÉÉåÍsÉÎZÉiÉÇ ÍcÉ§ÉÇ uÉhÉïrÉiÉ |ZÉiÉÇ ÍcÉ§ÉÇ uÉhÉïrÉiÉ |ZÉiÉÇ ÍcÉ§ÉÇ uÉhÉïrÉiÉ |ZÉiÉÇ ÍcÉ§ÉÇ uÉhÉïrÉiÉ |    
    Describe the following picture in five Sanskrit sentences with the help of words given in the box: 

2x 5 =10 

 

 

 
 

E¨ÉqÉÉ SØzrÉiÉå, MüÌiÉ ÃmrÉMüÉÍhÉ ? 
AkÉÑlÉæuÉ aÉcNûÉuÉÈ | 
oÉWÒûÌSlÉÉÌlÉ urÉiÉÏiÉÉÌlÉ iuÉÉÇ SØwOèuÉÉ | 
ÌMüqÉç LwÉÉ lÉÔiÉlÉÉ zÉÉÌOûMüÉ uÉÉ ? 
A± LuÉ qÉÉqÉÌmÉ lÉrÉ iÉqÉç AÉmÉhÉÇ mÉëÌiÉ | 

M×üwÉMüÉÈ,  iÉ×hÉÉÌlÉ,  ÌlÉUiÉÉÈ,  
AÉMüÉzÉÈ,  zÉÉZÉÉ,  M×üÌwÉMüqÉï,  
kÉÉlrÉÉSÏÌlÉ, qÉåbÉÉsÉÉmÉÈ 
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ZZZZÉhQûÈ  aÉ ÉhQûÈ  aÉ ÉhQûÈ  aÉ ÉhQûÈ  aÉ (Section C) 
    AlÉÑmÉërÉÑ£üurÉÉMüUhÉqÉçAlÉÑmÉërÉÑ£üurÉÉMüUhÉqÉçAlÉÑmÉërÉÑ£üurÉÉMüUhÉqÉçAlÉÑmÉërÉÑ£üurÉÉMüUhÉqÉç    
   Applied Grammar 

 

5. AkÉÉåÍsÉÎZÉiÉ5. AkÉÉåÍsÉÎZÉiÉ5. AkÉÉåÍsÉÎZÉiÉ5. AkÉÉåÍsÉÎZÉiÉ----uÉÉYrÉåwÉÑ UåZÉÉÌƒ¡ûiÉuÉÉYrÉåwÉÑ UåZÉÉÌƒ¡ûiÉuÉÉYrÉåwÉÑ UåZÉÉÌƒ¡ûiÉuÉÉYrÉåwÉÑ UåZÉÉÌƒ¡ûiÉ----mÉSåwÉÑ xÉÎlkÉcNåûSÇ xÉÎlkÉÇ uÉÉ ÌuÉkÉÉrÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉSåwÉÑ xÉÎlkÉcNåûSÇ xÉÎlkÉÇ uÉÉ ÌuÉkÉÉrÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉSåwÉÑ xÉÎlkÉcNåûSÇ xÉÎlkÉÇ uÉÉ ÌuÉkÉÉrÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉSåwÉÑ xÉÎlkÉcNåûSÇ xÉÎlkÉÇ uÉÉ ÌuÉkÉÉrÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |    
      Rewrite the underlined words of the following sentences in your answer-sheet after joining or disjoining  

      Sandhis:           1 x 3 = 3  

 
1. qÉ×irÉÉåqÉÉïqÉ×irÉÉåqÉÉïqÉ×irÉÉåqÉÉïqÉ×irÉÉåqÉÉï AqÉ×iÉ…¡ûqÉrÉ | 
2. ÌuÉuÉåMüÉlÉlSxrÉ uÉÉMçü + fÉËUÈuÉÉMçü + fÉËUÈuÉÉMçü + fÉËUÈuÉÉMçü + fÉËUÈ CuÉ mÉëuÉWûÌiÉ xqÉ |        
3. ²ÉÌuÉqÉÉæ²ÉÌuÉqÉÉæ²ÉÌuÉqÉÉæ²ÉÌuÉqÉÉæ mÉëÍxÉ®Éæ CWû |        
 

6. AkÉÉåÍsÉÎZÉiÉ6. AkÉÉåÍsÉÎZÉiÉ6. AkÉÉåÍsÉÎZÉiÉ6. AkÉÉåÍsÉÎZÉiÉ----AlÉÑcNåûSå  UåZÉÉÌƒ¡ûiÉAlÉÑcNåûSå  UåZÉÉÌƒ¡ûiÉAlÉÑcNåûSå  UåZÉÉÌƒ¡ûiÉAlÉÑcNåûSå  UåZÉÉÌƒ¡ûiÉ----mÉSåwÉÑ xÉqÉÉxmÉSåwÉÑ xÉqÉÉxmÉSåwÉÑ xÉqÉÉxmÉSåwÉÑ xÉqÉÉxÉÉÉÉÌuÉaÉëWÇû M×üiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |ÌuÉaÉëWÇû M×üiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |ÌuÉaÉëWÇû M×üiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |ÌuÉaÉëWÇû M×üiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |    
      Disjoin the compounds in the underlined words and rewrite the paragraph in the answer-sheet:   

            1 x 4 = 4  
1. ArÉjÉÉMüÉsÉÇArÉjÉÉMüÉsÉÇArÉjÉÉMüÉsÉÇArÉjÉÉMüÉsÉÇ xÉqÉÉaÉiÉÉåÅÍxÉ | xÉqmÉëÌiÉ 2. kÉqÉïqÉÌiÉÈkÉqÉïqÉÌiÉÈkÉqÉïqÉÌiÉÈkÉqÉïqÉÌiÉÈ xÉÈ mÉ¶ÉÉ¨ÉÉmÉålÉ 3. SakÉqÉÉlÉxÉÈSakÉqÉÉlÉxÉÈSakÉqÉÉlÉxÉÈSakÉqÉÉlÉxÉÈ xÉuÉïÇ  

uÉ×¨ÉÉliÉÇ ÌlÉuÉå± 4. xÉMüÂhÉxÉMüÂhÉxÉMüÂhÉxÉMüÂhÉqÉçqÉçqÉçqÉç     EŠæÈ A¢ülSiÉç | 
 

7. 7. 7. 7. UåZÉÉÌ„¡ûiÉmÉSÉlÉÉÇ UåZÉÉÌ„¡ûiÉmÉSÉlÉÉÇ UåZÉÉÌ„¡ûiÉmÉSÉlÉÉÇ UåZÉÉÌ„¡ûiÉmÉSÉlÉÉÇ     mÉëM×üÌiÉmÉëM×üÌiÉmÉëM×üÌiÉmÉëM×üÌiÉ----mÉëirÉrÉÉlÉç mÉëirÉrÉÉlÉç mÉëirÉrÉÉlÉç mÉëirÉrÉÉlÉç ÌuÉpÉerÉ ÌuÉpÉerÉ ÌuÉpÉerÉ ÌuÉpÉerÉ AlÉÑcNåûSÇ mÉÑlÉÈ ÍsÉZÉiÉ |AlÉÑcNåûSÇ mÉÑlÉÈ ÍsÉZÉiÉ |AlÉÑcNåûSÇ mÉÑlÉÈ ÍsÉZÉiÉ |AlÉÑcNåûSÇ mÉÑlÉÈ ÍsÉZÉiÉ |    
    Rewrite the passage after disjoining suffixes of underlined words    :     1 x 5 = 5  

MüSÉÍcÉiÉç 1. ÌuÉ¥ÉÉlÉÏÌuÉ¥ÉÉlÉÏÌuÉ¥ÉÉlÉÏÌuÉ¥ÉÉlÉÏ iÉiuÉ¥ÉqÉç AmÉ×cNûiÉç – ‘ÌMÇü UWûxrÉÇ ÌuÉµÉxrÉ ?’ CÌiÉ | 2. oÉÑÎ®qÉÉlÉçoÉÑÎ®qÉÉlÉçoÉÑÎ®qÉÉlÉçoÉÑÎ®qÉÉlÉç xÉÈ 
AuÉSiÉç- 3. AlÉliÉiÉÉAlÉliÉiÉÉAlÉliÉiÉÉAlÉliÉiÉÉ  LuÉ AxrÉ UWûxrÉqÉç’ CÌiÉ | mÉUqÉç LiÉiÉç mÉUÏÍ¤ÉiÉÑqÉç 4. CcNûlÉCcNûlÉCcNûlÉCcNûlÉç xÉÈ mÉërÉÉåaÉÉlÉç M×üiuÉÉ 
5. xÉÉqÉÉÎeÉMÇü xÉÉqÉÉÎeÉMÇü xÉÉqÉÉÎeÉMÇü xÉÉqÉÉÎeÉMÇü     xuÉÉxjrÉqÉç AlÉÉzÉrÉiÉç |    

    
8.8.8.8.    AAAAkÉÉåÍsÉÎZÉiÉÉÇ iÉÉÍsÉMüÉqÉç EmÉrÉÑerÉ xÉÇxM×üiÉå mÉgcÉuÉÉYrÉÉÌlÉ UcÉrÉiÉ kÉÉåÍsÉÎZÉiÉÉÇ iÉÉÍsÉMüÉqÉç EmÉrÉÑerÉ xÉÇxM×üiÉå mÉgcÉuÉÉYrÉÉÌlÉ UcÉrÉiÉ kÉÉåÍsÉÎZÉiÉÉÇ iÉÉÍsÉMüÉqÉç EmÉrÉÑerÉ xÉÇxM×üiÉå mÉgcÉuÉÉYrÉÉÌlÉ UcÉrÉiÉ kÉÉåÍsÉÎZÉiÉÉÇ iÉÉÍsÉMüÉqÉç EmÉrÉÑerÉ xÉÇxM×üiÉå mÉgcÉuÉÉYrÉÉÌlÉ UcÉrÉiÉ     ||||    
      Frame five sentences using the words in  following table:     1 x 5 =5    

    
    
    
    
    
    
    
    
9. AkÉÉåÍsÉÎZÉiÉ9. AkÉÉåÍsÉÎZÉiÉ9. AkÉÉåÍsÉÎZÉiÉ9. AkÉÉåÍsÉÎZÉiÉ----uÉÉiÉÉïsÉÉmÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ E¨ÉUÉÍhÉ LuÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |uÉÉiÉÉïsÉÉmÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ E¨ÉUÉÍhÉ LuÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |uÉÉiÉÉïsÉÉmÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ E¨ÉUÉÍhÉ LuÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |uÉÉiÉÉïsÉÉmÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ E¨ÉUÉÍhÉ LuÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |    
    Fill in the blanks in the following dialogue and write the answers in the answer-sheet:   1 x 3 =3 

 AeÉÑïlÉÈ – M×üwhÉ ! MåülÉ mÉërÉÑ£üÈ lÉUÈ mÉÉmÉÇ 1.    | 
 M×üwhÉÈ – MüÉqÉålÉ mÉërÉÑ£åülÉ 2.    mÉÉmÉÇ cÉrÉïiÉå | AiÉÈ qÉlÉÈ uÉzÉÏM×üirÉ MüÉqÉÇ ¢üÉåkÉÇ cÉ eÉÌWû | 
 AeÉÑïlÉÈ- mÉUÇ eÉlÉæÈ 3.    MüjÉÇ aÉ×½iÉå?  
 M×üwhÉÈ – AprÉÉxÉålÉ uÉæUÉarÉåhÉ cÉ aÉ×½iÉå | 

    ÍqÉjÉÈ AÌWûiÉÇ CcNûÎliÉ 

    xÉSÉ xÉuÉåï mÉëhÉåiÉÉUÈ 

pÉÉUiÉÏrÉÉÈ MüSÉÌmÉ xÉÉæWûÉSåïlÉ lÉ MÑüuÉïÎliÉ 
    LuÉ kÉqÉïxrÉ pÉuÉårÉÑÈ 

    CuÉ zÉÉÎliÉqÉç eÉÏuÉÎliÉ 
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10.AkÉÉåÍsÉÎZÉiÉ10.AkÉÉåÍsÉÎZÉiÉ10.AkÉÉåÍsÉÎZÉiÉ10.AkÉÉåÍsÉÎZÉiÉ----aÉëqÉÏhÉÉlÉÉÇ aÉëqÉÏhÉÉlÉÉÇ aÉëqÉÏhÉÉlÉÉÇ aÉëqÉÏhÉÉlÉÉÇ ÌSlÉcÉrÉÉïrÉÉqÉçÌSlÉcÉrÉÉïrÉÉqÉçÌSlÉcÉrÉÉïrÉÉqÉçÌSlÉcÉrÉÉïrÉÉqÉç    Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉmÉSåwÉÑ xÉqÉrÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉmÉSåwÉÑ xÉqÉrÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉmÉSåwÉÑ xÉqÉrÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉmÉSåwÉÑ xÉqÉrÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |     
    Here is the daily routine of villagers. Indicate the time in Sanskrit in the answer-sheet  
     in place of figures.          1 x 4 = 4 

aÉëÉqÉåwÉÑ eÉlÉÉÈ mÉëÉiÉÈ 4:00    uÉÉSlÉå LuÉ EÌ¨É¸ÎliÉ | mÉëÉiÉÈMüqÉï xÉqÉÉmrÉ 5:30   
uÉÉSlÉxÉqÉrÉå ¤Éå§ÉÇ mÉëÌiÉ aÉcNûÎliÉ | iÉ§É 8:45   uÉÉSlÉå mÉëÉiÉUÉzÉÇ xuÉÏM×üirÉ mÉÑlÉÈ MüÉrÉïUiÉÉÈ pÉuÉÎliÉ | 
xÉÉrÉÇ 6:15   uÉÉSlÉÇ rÉÉuÉiÉç MüÉrÉïÇ M×üiuÉÉ aÉ×WÇû mÉëÌiÉÌlÉuÉiÉïliÉå | 

    
11.Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉ11.Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉ11.Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉ11.Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉ----xÉXçZrÉÉuÉÉcÉMüxÉXçZrÉÉuÉÉcÉMüxÉXçZrÉÉuÉÉcÉMüxÉXçZrÉÉuÉÉcÉMü----ÌuÉzÉåwÉhÉÌuÉzÉåwÉhÉÌuÉzÉåwÉhÉÌuÉzÉåwÉhÉ----mÉSÉÌlÉ mÉërÉÑerÉ E¨ÉUÉÍhÉ mÉSÉÌlÉ mÉërÉÑerÉ E¨ÉUÉÍhÉ mÉSÉÌlÉ mÉërÉÑerÉ E¨ÉUÉÍhÉ mÉSÉÌlÉ mÉërÉÑerÉ E¨ÉUÉÍhÉ     E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |     
      Replacing numerals with Sanskrit adjectives in the following sentences, write your   
       answers in the answer-sheet:                      ½ x 4 = 2  

 
                [1] aÉÉæÈ AlÉåMüÉlÉç eÉlÉÉlÉç EmÉMüUÉåÌiÉ | iÉxrÉÉÈ    [4] mÉÉSÉÈ    
pÉuÉÎliÉ | LMÇü mÉÑcNÇû    [2] zÉ×…¡åû cÉ pÉuÉiÉÈ | qÉÉxÉxrÉ    [30] ÌSlÉåwÉÑ AÌmÉ xÉÉ 
¤ÉÏUÇ SSÉÌiÉ | 

 
12.A12.A12.A12.AkÉÉåÍsÉÎZÉiÉuÉÉYrÉÉlÉÉÇ xÉÇzÉÉåkÉlÉÇ M×üiuÉÉ uÉÉYrÉÉÌlÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | kÉÉåÍsÉÎZÉiÉuÉÉYrÉÉlÉÉÇ xÉÇzÉÉåkÉlÉÇ M×üiuÉÉ uÉÉYrÉÉÌlÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | kÉÉåÍsÉÎZÉiÉuÉÉYrÉÉlÉÉÇ xÉÇzÉÉåkÉlÉÇ M×üiuÉÉ uÉÉYrÉÉÌlÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | kÉÉåÍsÉÎZÉiÉuÉÉYrÉÉlÉÉÇ xÉÇzÉÉåkÉlÉÇ M×üiuÉÉ uÉÉYrÉÉÌlÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |     
     Correct and rewrite the following sentences in the answer-sheet:     1 x 4 = 4 

 

  MÑü§ÉÉÎxiÉ 1. SåuÉÉÈSåuÉÉÈSåuÉÉÈSåuÉÉÈ CÌiÉ ÌWûUhrÉMüÍzÉmÉÑÈ xuÉmÉÑ§ÉqÉç AmÉ×cNûiÉç | xÉÈ mÉÑ§ÉÈ ÌlÉpÉïrÉÈ pÉÔiuÉÉ 2. AuÉSqÉçAuÉSqÉçAuÉSqÉçAuÉSqÉç –    
pÉaÉuÉÉlÉç xÉuÉï§ÉÉÎxiÉ CÌiÉ | iÉSÉ 3. LMæüMüÉÇ LMæüMüÉÇ LMæüMüÉÇ LMæüMüÉÇ  xiÉqpÉÇ mÉëSzÉïÌrÉiuÉÉ AmÉ×cNûiÉç mÉÔuÉïmÉ×¹Ç mÉëzlÉqÉç | AliÉå LMüxqÉÉiÉç  
4. xiÉqpÉxrÉxiÉqpÉxrÉxiÉqpÉxrÉxiÉqpÉxrÉ  WûËUÈ lÉUÍxÉÇWûÃmÉåhÉ AÉÌuÉoÉïpÉÔuÉ |     

    
    

ZÉhQûÈ  bÉZÉhQûÈ  bÉZÉhQûÈ  bÉZÉhQûÈ  bÉ    (Section D) 
mÉÌPûiÉmÉÌPûiÉmÉÌPûiÉmÉÌPûiÉ----AuÉoÉÉåkAuÉoÉÉåkAuÉoÉÉåkAuÉoÉÉåkÉlÉqÉçÉlÉqÉçÉlÉqÉçÉlÉqÉç    

Reading Comprehension 

13131313.AkÉÉåÍsÉÎZÉiÉÇ aÉ±ÉÇzÉÇ, mÉ±ÉÇzÉÇ, lÉÉšÉÇzÉÇ cÉ mÉÌPûiuÉÉ mÉëS¨É.AkÉÉåÍsÉÎZÉiÉÇ aÉ±ÉÇzÉÇ, mÉ±ÉÇzÉÇ, lÉÉšÉÇzÉÇ cÉ mÉÌPûiuÉÉ mÉëS¨É.AkÉÉåÍsÉÎZÉiÉÇ aÉ±ÉÇzÉÇ, mÉ±ÉÇzÉÇ, lÉÉšÉÇzÉÇ cÉ mÉÌPûiuÉÉ mÉëS¨É.AkÉÉåÍsÉÎZÉiÉÇ aÉ±ÉÇzÉÇ, mÉ±ÉÇzÉÇ, lÉÉšÉÇzÉÇ cÉ mÉÌPûiuÉÉ mÉëS¨É----mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |        
     Read the following prose, poetry and drama passages and answer the given questions in the    

     answer-sheet:  

 aÉ±ÉÇzÉÈaÉ±ÉÇzÉÈaÉ±ÉÇzÉÈaÉ±ÉÇzÉÈ----    
‘lÉÉWÇû xuÉaÉïÇ lÉ qÉÉå¤ÉÇ uÉÉ MüÉqÉrÉå ÌMüliÉÑ AÉiÉÉïlÉÉÇ mÉËU§ÉÉhÉÉrÉ LuÉ qÉå ÌlÉ¶ÉrÉÈ | AxrÉ rÉÉcgÉÉ uÉ×jÉÉ qÉÉ 

AxiÉÑ’ | CirÉÑYiuÉÉ xÉ UÉeÉÉ uÉæ±Éå£üÌuÉÍkÉlÉÉ lÉÏsÉÉåimÉsÉqÉç CuÉ LMÇü cÉ¤ÉÑÈ zÉlÉæÈ A¤ÉiÉqÉç EimÉÉš mÉëÏirÉÉ 
rÉÉcÉMüÉrÉ xÉqÉÌmÉïiÉuÉÉlÉç | xÉÈ AÌmÉ iÉiÉç lÉå§ÉÇ rÉjÉÉxjÉÉlÉqÉç AxjÉÉmÉrÉiÉç | iÉiÉÉå qÉWûÏmÉÉsÉÈ Ì²iÉÏrÉÇ lÉå§ÉqÉÌmÉ zÉlÉæÈ 
ÌlÉwMüÉxrÉ iÉxqÉæ SSÉæ | AjÉ ÌuÉÎxqÉiÉÈ zÉ¢üÈ AÍcÉliÉrÉiÉç- “AWûÉå kÉ×ÌiÉÈ! AWûÉå xÉiuÉqÉç!  
AWûÉå xÉiuÉÌWûiÉæÌwÉiÉÉ ! lÉÉrÉÇ ÍcÉUÇ mÉËUYsÉåzÉqÉç AlÉÑpÉÌuÉiÉÑqÉç AWïûÌiÉ | AiÉÈ mÉërÉÌiÉwrÉå cÉ¤ÉÑwÉÉåÅxrÉ  
mÉëirÉÉUÉåmÉhÉÉrÉ CÌiÉ | 
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mÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈ----        

I. LMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉ    : 
Answer in one word:                    ½ x3=1 ½  

  i. UÉ¥ÉÈ MåüwÉÉÇ mÉËU§ÉÉhÉÉrÉ ÌlÉ¶ÉrÉÈ AÉxÉÏiÉç?   

 ii. UÉeÉÉ MüÐSØzÉÇ cÉ¤ÉÑÈ EimÉÉš zÉ¢üÉrÉ SSÉæ? 

    iii. zÉ¢üxrÉ MüÉ uÉ×jÉÉ qÉÉ AxiÉÑ CÌiÉ UÉeÉÉ ÍcÉliÉrÉÌiÉ ?   

II.    mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :    
Answer in complete sentence:                    1 x 2 = 2    

i.ÌuÉÎxqÉiÉÈ zÉ¢üÈ MüjÉqÉç EªÉUqÉç AMüUÉåiÉç ? 

III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ     ::::        
Do as directed:                   ½ x 3 = 1 ½  

i.  ‘AxjÉÉmÉrÉiÉç’ CÌiÉ Ì¢ürÉÉmÉSxrÉ MüiÉ×ïmÉSÇ ÌMüqÉç ?  

ii. aÉ±ÉÇzÉÉiÉç iÉsÉç-mÉëirÉrÉÉliÉÇ mÉSqÉåMÇü ÍcÉiuÉÉ ÍsÉZÉiÉ? 

iii. ‘A¤ÉiÉqÉç’ CÌiÉ mÉSÇ MüxrÉ ÌuÉzÉåwÉhÉqÉç?     
    
mÉ±ÉÇzÉÈmÉ±ÉÇzÉÈmÉ±ÉÇzÉÈmÉ±ÉÇzÉÈ----     
  zÉYlÉÉåiÉÏWæûuÉ rÉÈ xÉÉåRÒÇû mÉëÉMçü zÉUÏUÌuÉqÉÉå¤ÉhÉÉiÉç | 
  MüÉqÉ¢üÉåkÉÉå°uÉÇ uÉåaÉÇ xÉ rÉÑ£üÈ xÉ xÉÑZÉÏ lÉUÈ || 

I. LMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉ    : 
 Answer in one word:                1 x 2 = 2 

i. MüÉprÉÉqÉç E°uÉÈ uÉåaÉÈ xÉWûlÉÏrÉÈ ?   

ii. MüxqÉÉiÉç mÉëÉMçü uÉåaÉÈ xÉWûlÉÏrÉÈ ? 

II.    mÉÔhmÉÔhmÉÔhmÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :ÉïuÉÉYrÉålÉ E¨ÉUiÉ  :ÉïuÉÉYrÉålÉ E¨ÉUiÉ  :ÉïuÉÉYrÉålÉ E¨ÉUiÉ  :     
  Answer in complete sentence:                 1 x 1 = 1 

i. MüÈ lÉUÈ xÉÑZÉÏ rÉÑ£üÈ cÉ ? 

III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :    
Do as directed:                    1 x 2 = 2 

i. ‘zÉYlÉÉåÌiÉ’ CÌiÉ Ì¢ürÉÉmÉSxrÉ MüiÉ×ïmÉSÇ ÌMüqÉç ?    

ii. ‘xÉÑZÉÏ’ AxrÉ mÉëM×üÌiÉ-mÉëirÉrÉÉæ ÌuÉpÉerÉ ÍsÉZÉiÉ? 
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lÉÉšÉÇzÉÈlÉÉšÉÇzÉÈlÉÉšÉÇzÉÈlÉÉšÉÇzÉÈ-   
 
 pÉÏqÉÈ-     (rÉÑÍkÉÌ¸UÇ mÉëÌiÉ) pÉëÉiÉÈ! SìÉæÍhÉqÉç AlÉÑaÉliÉÑÇ qÉ½qÉç AlÉÑqÉÌiÉÇ SSÉiÉÑ pÉuÉÉlÉç | 
 rÉÑÍkÉÌ¸UÈ-  aÉcNû uÉixÉ! ÌuÉeÉrÉÏ pÉuÉ | lÉMÑüsÉÈ iÉuÉ xÉÉUÍjÉÈ pÉuÉiÉÑ | (pÉÏqÉxÉålÉÈ ÌlÉaÉïcNûÌiÉ, ´ÉÏM×üwhÉÈ  
               AeÉÑïlÉålÉ xÉWû mÉëÌuÉzÉÌiÉ)   
 ´ÉÏM×üwhÉÈ – pÉÉå kÉqÉïUÉeÉ! xÉqÉÏcÉÏlÉÇ lÉ M×üiÉÇ pÉuÉiÉÉ | mÉÑ§ÉzÉÉåMü-ÌuÉÀûsÉÈ pÉÏqÉxÉålÉÈ LMüÉMüÐ LuÉ SìÉæÍhÉÇ  

    WûliÉÑqÉç AÍpÉkÉÉuÉÌiÉ | 
 rÉÑÍkÉÌ¸UÈ-  pÉaÉuÉlÉç! xÉ LMüÉMüÐ LuÉ SìÉåhÉmÉÑ§ÉÉrÉ AsÉqÉç |  
 ´ÉÏM×üwhÉÈ-  uÉixÉ! lÉ eÉÉlÉÉÌiÉ pÉuÉÉlÉç SìÉåhÉmÉÑ§ÉxrÉ cÉmÉsÉÉÇ mÉëM×üÌiÉqÉç | ÌmÉiÉÑÈ SìÉåhÉÉiÉç mÉëÉmiÉÇ oÉë¼ÍzÉUÉå lÉÉqÉ  

           Ax§ÉÇ ÌuÉ±iÉå iÉxrÉ mÉÉµÉåï | rÉÌS iÉiÉç mÉërÉÑerÉiÉå, xÉuÉÉï mÉëÔÍjÉuÉÏ SakÉÉ xrÉÉiÉç | 
 

I. LMLMLMLMümÉSålÉ E¨ÉUiÉümÉSålÉ E¨ÉUiÉümÉSålÉ E¨ÉUiÉümÉSålÉ E¨ÉUiÉ    :  

  Answer in one word:                ½ x 3 = 1 ½  

i. pÉÏqÉxrÉ xÉÉUÍjÉÈ MüÈ pÉuÉÌiÉ ?   

ii. oÉë¼Éx§ÉmÉërÉÉåaÉåhÉ MüÉ SakÉÉ xrÉÉiÉç ? 

iii. MüÐSØzÉÈ pÉÏqÉxÉålÉÈ SìÉæÍhÉÇ WûliÉÑqÉç AÍpÉkÉÉuÉÌiÉ ?     
 

II.    mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :    
Answer in complete sentence:        1 x 1 = 1 

i.pÉÏqÉÈ rÉÑÍkÉÌ¸UÇ ÌMüqÉç mÉ×cNûÌiÉ ? 

III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :    
Do as directed:                   ½ x 3 = 1 ½  

i.  ‘pÉëÉiÉÈ’ CÌiÉ MüxrÉ xÉqoÉÉåkÉlÉqÉç ?    

ii.  ‘cÉmÉsÉÉÇ mÉëM×üÌiÉqÉç’ CirÉlÉrÉÉåÈ ÌMÇü ÌuÉzÉåwÉhÉmÉSqÉç ? 

iii. ‘xÉqÉÏmÉå’ CirÉjÉåï ÌMÇü mÉSqÉ§É mÉërÉÑ£üqÉç ? 
    

14. AkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉ----mÉ±²mÉ±²mÉ±²mÉ±²rÉrÉrÉrÉxrÉ pÉÉuÉÉjÉïqÉç EmÉrÉÑ£ümÉSæÈ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |xrÉ pÉÉuÉÉjÉïqÉç EmÉrÉÑ£ümÉSæÈ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |xrÉ pÉÉuÉÉjÉïqÉç EmÉrÉÑ£ümÉSæÈ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |xrÉ pÉÉuÉÉjÉïqÉç EmÉrÉÑ£ümÉSæÈ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |    
Rewrite the following explanations of the stanzas after completing them with appropriate words:   

  1 x 6 = 6 

A.A.A.A.  ÌMÇü eÉÏÌuÉiÉqÉç ? AlÉuÉ±qÉç, ÌMÇü eÉÉŽqÉç? mÉÉPûiÉÉåÅmrÉlÉpÉrÉÉxÉÈ | 
 MüÉå eÉÉaÉÌiÉï ? ÌuÉuÉåMüÐ, MüÉ ÌlÉSìÉ qÉÔRûiÉÉ eÉliÉÉåÈ || 
 
pÉÉuÉÉjÉïÈ pÉÉuÉÉjÉïÈ pÉÉuÉÉjÉïÈ pÉÉuÉÉjÉïÈ -  xÉ‹lÉæÈ 1.   LuÉ ´Éå¸Ç eÉÏuÉlÉÇ qÉlrÉiÉå | 2.    AÌmÉ AprÉÉxÉÈ lÉ Ì¢ürÉiÉå     
           cÉåiÉç xÉÉ eÉQûiÉÉ CÌiÉ EcrÉiÉå | rÉxrÉ ÌuÉuÉåMüÈ pÉuÉÌiÉ  xÉ LuÉ eÉÉaÉ×iÉÈ pÉuÉÌiÉ | lÉUxrÉ qÉÔZÉïiÉÉ  

    3.    CÌiÉ MüjrÉiÉå |  
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AÉ.AÉ.AÉ.AÉ. irÉYiuÉÉ kÉqÉïmÉëSÉÇ uÉÉcÉÇ mÉÂwÉÉÇ rÉÉåÅprÉÑSÏUrÉåiÉç |  
 mÉËUirÉerÉ TüsÉÇ mÉYuÉÇ pÉÑ‡åûÅmÉYuÉÇ ÌuÉqÉÔRûkÉÏÈ || 
  
pÉÉuÉÉjÉïÈpÉÉuÉÉjÉïÈpÉÉuÉÉjÉïÈpÉÉuÉÉjÉïÈ -  1.   lÉUÈ kÉqÉïrÉÑ£üÇ uÉcÉlÉÇ ÌuÉWûÉrÉ 2.    uÉÉhÉÏÇ pÉÉwÉiÉå xÉÉ mÉYuÉÇ 3.   

     irÉYiuÉÉ AmÉYuÉ-TüsÉ-ZÉÉSlÉxÉqÉÉlÉÉ qÉÔZÉïiÉÉ pÉuÉÌiÉ |  
 

15.AkÉÉåÍsÉÎZÉiÉmÉ±²AkÉÉåÍsÉÎZÉiÉmÉ±²AkÉÉåÍsÉÎZÉiÉmÉ±²AkÉÉåÍsÉÎZÉiÉmÉ±²rÉrÉrÉrÉxrÉ AluÉrÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |xrÉ AluÉrÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |xrÉ AluÉrÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |xrÉ AluÉrÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |    
     Complete and rewrite the prose-order-renderings of the following two verses:                    ½ x 6 = 3 

    
A.A.A.A.  Ax§ÉÇ oÉë¼ÍzÉUÉå rÉ§É mÉUqÉÉx§ÉåhÉ uÉkrÉiÉå | 
      xÉqÉÉÈ ²ÉSzÉ mÉeÉïlrÉxiÉSè UÉ·íÇ lÉÉÍpÉuÉwÉïÌiÉ || 

 AluÉrÉÈAluÉrÉÈAluÉrÉÈAluÉrÉÈ –  rÉ§É oÉë¼ÍzÉUÈ 1.   mÉUqÉÉx§ÉåhÉ uÉkrÉiÉå 2.   ²ÉSzÉ qÉÉxÉÉÈ iÉSè UÉ·íÇ lÉ  
      3.      | 
  
 

AÉ.AÉ.AÉ.AÉ.   urÉxÉlÉÇ mÉëÉmrÉ rÉÉå qÉÉåWûÉiÉç MåüuÉsÉÇ mÉËUSåuÉrÉåiÉç | 
         ¢ülSlÉÇ uÉkÉïiÉå iÉxrÉ lÉÉliÉÇ xÉqÉÍkÉaÉcNûÌiÉ || 
 

AluÉrÉAluÉrÉAluÉrÉAluÉrÉÈ –  rÉÈ urÉxÉlÉÇ 1.   qÉÉåWûÉiÉç MåüuÉsÉÇ 2.      iÉxrÉ ¢ülSlÉÇ uÉkÉïiÉå 3.      
           lÉ xÉqÉÍkÉaÉcNûÌiÉ | 
 

16. UåZÉÉÌUåZÉÉÌUåZÉÉÌUåZÉÉÌƒ¡ûiÉƒ¡ûiÉƒ¡ûiÉƒ¡ûiÉ----mÉSÉÌlÉ AÉkÉ×irÉ mÉëzlÉÌlÉqÉÉïhÉÇ MÑüÂiÉ |mÉSÉÌlÉ AÉkÉ×irÉ mÉëzlÉÌlÉqÉÉïhÉÇ MÑüÂiÉ |mÉSÉÌlÉ AÉkÉ×irÉ mÉëzlÉÌlÉqÉÉïhÉÇ MÑüÂiÉ |mÉSÉÌlÉ AÉkÉ×irÉ mÉëzlÉÌlÉqÉÉïhÉÇ MÑüÂiÉ |    
     Frame questions on the basis of the underlined words:      1 x4 = 4 

 

 1.    qÉlÉxÉÈqÉlÉxÉÈqÉlÉxÉÈqÉlÉxÉÈ ÌlÉaÉëWûÈ uÉÉrÉÉåÈ CuÉ SÒwMüUÈ |   
2. MüÉqÉxrÉ lÉÉzÉÉrÉ CÎlSìrÉÉÍhÉCÎlSìrÉÉÍhÉCÎlSìrÉÉÍhÉCÎlSìrÉÉÍhÉ uÉzÉå MüiÉïurÉÉÌlÉ | 

 3. UÉ¥ÉÈ lÉå§ÉSÉlÉÌlÉ¶ÉrÉÇ ¥ÉÉiuÉÉ AqÉÉirÉÉÈAqÉÉirÉÉÈAqÉÉirÉÉÈAqÉÉirÉÉÈ ÌuÉwÉhhÉÉÈ eÉÉiÉÉÈ |   
4. rÉSè AuÉxÉUå S¨ÉÇ iÉSè AlÉbÉïqÉçAlÉbÉïqÉçAlÉbÉïqÉçAlÉbÉïqÉç | 

 

17.  bÉOûlÉÉ¢üqÉÉlÉÑxÉÉUqÉç AkÉÉåÍsÉÎZÉiÉbÉOûlÉÉ¢üqÉÉlÉÑxÉÉUqÉç AkÉÉåÍsÉÎZÉiÉbÉOûlÉÉ¢üqÉÉlÉÑxÉÉUqÉç AkÉÉåÍsÉÎZÉiÉbÉOûlÉÉ¢üqÉÉlÉÑxÉÉUqÉç AkÉÉåÍsÉÎZÉiÉ----uÉÉYrÉÉÌlÉ mÉÑlÉÈ ÍsÉZÉiÉ |uÉÉYrÉÉÌlÉ mÉÑlÉÈ ÍsÉZÉiÉ |uÉÉYrÉÉÌlÉ mÉÑlÉÈ ÍsÉZÉiÉ |uÉÉYrÉÉÌlÉ mÉÑlÉÈ ÍsÉZÉiÉ |  
     Rewrite the following sentences in the sequential order:                 ½ x 8 = 4 

 
 1. qÉÉaÉåï E¬hQûoÉÉsÉMüxrÉ uÉcÉÉÇÍxÉ ´ÉÑiuÉÉ mÉëcNû³ÉpÉÉarÉÈ cÉÉæUMüqÉï irÉ£üuÉÉlÉç | 

2. mÉëcNû³ÉpÉÉarÉÈ SÒ¹oÉÑÎ®È cÉ ²å ÍqÉ§Éå AÉxiÉÉqÉç | 
3. SÒ¹oÉÑÎ®È iÉxrÉ aÉåWåû cÉÉæUMüqÉï MüiÉÑïqÉç AÉaÉcNûiÉç | 
4. iÉÉæ kÉlÉWûUhÉÉjÉïÇ aÉëÉqÉÉliÉUÇ aÉiÉÉæ |   
5. xÉÈ M×üwÉMüxrÉ ¤Éå§Éå WûsÉMüÉrÉïÇ MüiÉÑïqÉç AÉUpÉiÉ | 
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6. xÉmÉïÈ oÉÌWûÈ ÌlÉaÉïirÉ SÒ¹oÉÑÎ®qÉåuÉ S¹uÉÉlÉç | 
7. xuÉmlÉxrÉ uÉÉiÉÉïÇ ´ÉÔiuÉÉ xÉÈ ¤Éå§ÉÉiÉç ÌuÉwÉkÉUrÉÑ£Çü MüsÉzÉÇ mÉëÉmiÉuÉÉlÉç | 
8. ÍqÉ§ÉÇ qÉÉUÌrÉiÉÑÇ iÉiÉç MüsÉzÉÇ xÉÈ ÍqÉ§ÉxrÉ aÉ×Wåû AÍ¤ÉmÉiÉç | 
 

18. AÍkÉÍsÉÎZÉiÉ18. AÍkÉÍsÉÎZÉiÉ18. AÍkÉÍsÉÎZÉiÉ18. AÍkÉÍsÉÎZÉiÉ----uÉÉYrÉuÉÉYrÉuÉÉYrÉuÉÉYrÉåwÉÑ UåZÉÉÌƒ¡ûiÉmÉSÉlÉÉÇ mÉëxÉ…¡ûÉlÉÑxÉÉUÇ zÉÑ®qÉç AjÉïÇ ÍcÉiuÉÉ ÍsÉZÉiÉ |åwÉÑ UåZÉÉÌƒ¡ûiÉmÉSÉlÉÉÇ mÉëxÉ…¡ûÉlÉÑxÉÉUÇ zÉÑ®qÉç AjÉïÇ ÍcÉiuÉÉ ÍsÉZÉiÉ |åwÉÑ UåZÉÉÌƒ¡ûiÉmÉSÉlÉÉÇ mÉëxÉ…¡ûÉlÉÑxÉÉUÇ zÉÑ®qÉç AjÉïÇ ÍcÉiuÉÉ ÍsÉZÉiÉ |åwÉÑ UåZÉÉÌƒ¡ûiÉmÉSÉlÉÉÇ mÉëxÉ…¡ûÉlÉÑxÉÉUÇ zÉÑ®qÉç AjÉïÇ ÍcÉiuÉÉ ÍsÉZÉiÉ |    
                Write the appropriate meanings for the underlined words:      1x 3 = 3 

 

 1. ¢üÉåkÉÉiÉç pÉuÉÌiÉ xÉqqÉÉåWûÈxÉqqÉÉåWûÈxÉqqÉÉåWûÈxÉqqÉÉåWûÈ | 
  A. qÉÔNûÉï     

AÉ. ÌMüƒ¡ûiÉïurÉÌuÉqÉÔRûiÉÉ      
C. qÉÉåWûÈ 
  

 2. WåWåWåWåûrÉqÉçûrÉqÉçûrÉqÉçûrÉqÉç AÌmÉ cÉ ÌMüqÉç ? 
  A. aÉëWûhÉrÉÉåarÉqÉç     

AÉ. irÉÉerÉqÉç      
C. MüsrÉÉhÉqÉrÉqÉç  
 

 3. AÉmÉSÉÇ iÉUÍhÉÈiÉUÍhÉÈiÉUÍhÉÈiÉUÍhÉÈ kÉærÉïqÉç | 
  A. lÉÉæMüÉ       

AÉ. iÉUhÉiÉQûÉaÉÈ      
C. xÉÔrÉïÈ 

 

 

 


